
Recall : -

• X - population of interest ; assume that ✗ has

either p.m-f f- C. Ip)

Piaf fc . / p , } PEPE
Rd .

' G.njectuoe : - Is tse Po C- P. ?

[ Null hypothesis] Necessity
to

find

best
- Test to verify the conjecture : - possible

- Sample Xi
,
Xi
,

. . .

,
X
,
it- d. ✗

Distribution - Dcsclop, a
"

test statistic
"

= function
is fully
known when of X

,
,

. . .

,
X
,
= Distribution will depend

pepo on to c-P.

- Verify : - one tries to observe if indeed

the statistic could have arisen from

f. c- Po

- Quantify the degree of possibilities
through a probability called the

p-value .



• Null hypotheses : Consecutive one makes about the

population

. Alternate hypothesis : - this
>

will specify a manner

in which the null is erroneous

• b- value : - probability that soph would be

atleast as from expectations as was

actually observed .

- small p-value = indicates sample is

highly unusual ⇒ Null is perhaps not

true
.

- large p-value . - . consistent with null hypothesis

2- - test : - Test for sample mean when r is known
.

✗ ~ Normally
,
04

Null hypothesis : µ - C

⑦ Alternate hypothesis : µ>C

let × ,
, . .

X
,

be it'd sands from ✗



¥ : - raft;-) I _-±É .

"

Fix level of significance ✗ : ✗ = 0.0-5

ctbrcshold to p-value )

2- ~ Normal (al )

• Plz > ÑT⇒ ) < ✗

reject the null hypothesis .

?⃝ Null hypothesis : µ =c

Alternate hypothesis : µ -4C .

Sample Xi
, . . >

X
,

from the population

let Yµ . - Yen be God ✗

⇒ 2- = rn() - Normal lad

He : how far is I from c ?

I.e need to understand II -Cl



PC 14--471*-4)

= PC rnañ_÷)→Ñ) )
= IPCIZI → rn#-) )
Fix ✗ C- Coil )

Stef : - Sample Xi . . Xn
q rnCX)- ⇒ Compute

steps : - Compute PCTZI> Ion 1)

stars : - it
"

Piz> Ion 1) <2

this resect the null hypothesis .

Null hypothesis : use
Alternate hypothesis : µ<c

Ex : Device appropriate

tests



f- test : - for sample mean when r is unknown

✗ ~ Normally distributed wilt meanie

µ and - all unknown.
vahana or

Null hypothesis : - µ=c

Alternate hypothesis : µ> c

let 4
, . . ,Y. be God ✗

"

mimi
" sample

under null : Yi ~ NormalCC
,
or)

Kroon : - T:=os(Y÷) - tn- ,
/

notion of test statistic

von under nullKeef
4- → I )

PCT > rnC☒÷ )



I

Fix a C- Coil )

Stef : - Sample X , . . Xn
q rnCIg- ⇒ Compute

steps : - Compute LPC I > Sn ) where
T- tons distoibsnleos

stars : - it PCT = Sn D) <2
s

EI :-X - Nikos"sogou.distni-kotedneltoilb-hspometbness.euand - all unknown.
valsaree 5

?⃝ Null hypothesis : - µ=c Question:

"e"'t h" """ " M" J """testasNull hoofbeat : - µ=c a↳
-

Ilernatc hypothesis : µ =/ c

ve ?



20- test : Test for sample valiance

✗ ~ Normal (M
,

N) wilt o - unknown
.

✗
, - . ,X, be sample from the population
Y, . . Y

,
be it-I X .

4- = & §zYi

Garrote 5
, - ¥, i=&C%

-55)
valiance
)

F- [ shy] = o? C seen before)

Distributions of shy :

Chi - square wills

In - [ n degrees of ] - is a random

freedom

with p.d.tn given by

fact = 2-%
Ki'

e-%
-

x

PGE) Before :

N=1 ,
X -Nanako,y

- x?



Theorem 8.59 in Book]

G- is 52
y - has 2in

,
distribution

.

I

[ under the null hypothesis one can work

with the test - Statistic]

Null hypotheses : - 0=0

Alternative hypothesis : - r > c
s? -É

PC S} → SI ) = Plz:S: > Cn-D÷ )

= PC X!
, =W÷ )

steps : - Fix a c- Coil ) = level of significance

✗ , . -

,
X
.

for the population

amate n¥?



Stenz : - compute PC 7in
,
> 4¥?)

-

It PC >E. → n¥:) < ✗steps : -
then resect the hall hypothesis .

EI :-X - Normally distributed wilt meanie

µ and or all unknown.
valsaree 5

?⃝ Null hypothesis : - o=c Question :

"""ok "" """ " ° " ) """testdoNull haaotbeis : - - =c
above.

alternate hypothesis : - =/ c


